
The decoding schemes are adapted from Meslec et 
al. (2020).



Decoding Scheme 1 

Explanation: The alphabet is split into two parts: the first 13 letters and the last 13 
letters. For every letter, there is a direct correspondence with another letter.

Example: URYYB = HELLO. 



Decoding Scheme 2

Explanation: A number corresponds to each letter. 

Example: 12-15-22-5 = LOVE.



Decoding Scheme 3

Explanation: Each letter (that is to be decoded) corresponds to a group of other 5 
letters.

Example 1: AABBA = G
Example 2: ABABA-ABBAB-BAABB-AABAA = LOVE


